Ao

Unit 1 Study Guide Name
Use points P(2,—1) & Q(—9,—6) for #1 & 2. 3) Anequationofalineaisy = —%x — 2. See graph.
1) What coordinate pom itions the directed line
segment PQ by a ratu{ 39 ; .._53—
- 3 10, .33 .
e 2t '§( ‘ \\ Z-l. -

2) What coordinate pomf parhtmns the directed line What is the equation of the line that isperpendiculai-io
segment QP by a ratio ;7 line a shown on the graph and passes tﬁrough point
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6) What is the area of the parallelogram? Area = bh
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| Somee Sloge- gl
Write the equation of the lines below in slope-intercept form: y = mx + b. 'T -

7) Through (—4,5) and parallel toy = —g x—5. 8) Through (4,1) and perpendicular to y = —2x — 2
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Find the area and perimater of the following triangle. In the diagram, two runways intersect at point B, Each

.S'xmpfesffom required. Reminder: Draw alfifude fo find _square is 200 x 200 yards square. If you walked from A
height .~ ~ B.smd then m{)wfar did you walk?
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